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3. To find the points where the two curves intersect we set 4 − x2 = −2x + 1. Then we obtain

x2 − 2x− 3 = 0 or (x + 1)(x− 3) = 0. Thus the two curves intersect for x = −1 and x = −3. Their

graphs look like the following picture.
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5.a 11/8

The four subintervals are
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6.b 3

We have y(x) =
∫
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The five equal subintervals are
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8.d
x2

2
ln x − x2

4
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We apply the IBP formula
∫

udv = uv −
∫

vdu with u = `nx and dv = xdx. Then du = 1
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9.b 2
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√
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We have F (t) =
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11.b -8

The definite integral is equal to −8 − 2 + 2 = −8.
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Let u = x2 + 1. Then du = 2xdx and the integral becomes

1

2

∫ 5

2

u−2du =
1

2

u−1

−1

∣∣∣5
2

= −1

2

(
1

5
− 1

2

)
=

3

20
.

13.e 1

Let u = x and dv = exdx. Then du = dx and v = ex. By applying the IBP formula we obtain∫ 1

0

xexdx = xex
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